
Monday, December 10, 2018
• Warm-up

• Answer the following MC Questions (on each possible answer, show why it is FALSE)

Here are the IQ scores of 10 randomly chosen fifth-grade students:

96    110    118    118      122     125     126    130     139     145

Which of the following statements about this data set is False?

(A) If the value 96 was removed from the data set, the median of the 
remaining 9 IQ scores would be higher than the median of all 10 IQ scores.

(B)  If the value 96 was removed from the data set, the IQR of the remaining 9 
IQ scores would be lower than the IQR of all 10 IQ scores.

(C) If the value 96 was removed from the data set, the standard deviation of 
the remaining 9 IQ scores would be higher than the standard deviation of all 
10 IQ scores.

(D) If the value 96 was removed from the data set, the standard deviation of 
the remaining 9 IQ scores would be lower than the standard deviation of all 
10 IQ scores.
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